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What is the difference in age between purchasers of skis a
our Whistler store and purchasers of skis at our New
Westminster store? Find a 95% C.I. Test to see if this
difference is significant at the .05 level.

Store n % S
Whistler 37 295 2.7
N.W. 125 239 5.1

Are the samples independent? yes
Is the population variance known? no(must use s)
Is the sample size large? yes(can use normal)

= . S S . 2 . 2
(R —%,) £ 2., L+ (295-239)+196 2377 + 512'5
1 2

5.6 ¥ (1.96)(0.6365)
= 56%1.2475

So, we are 95% confident that the mean age of customers
at Whistler is between 4.35 and 6.85 years more than at
the New Westminster store.
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Step 2: Select the distribution to use as above
Step 3: Determine the decision rule
[s it one-tailed or two-tailed? (two-tailed)

What values of z cuts off a region of & /2 in both tails?
So reject Ho if the computed value of the test statistic is
>1.96 or <-1.96.

Step 4: Calculate the value of the test statistic

Test Statistic:

7= (Xl _7—(2) “(Lll - uz)o
st +£ =(29.5-23.9 - 0)/(0.6365) = 8.798
n,

p(-8.7981 >z > 8.7981) ~ .000
Step 5: Make a decision and state conclusion

As 8.798 is > 1.96, (and p = .000 < .05)
we reject the null hypothesis.
We conclude that the difference in mean age for the two
stores is significant at the .@iR level.
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You are the manager of a parcel delivery service which
uses gasoline powered vans. Your gas supplier A seems
to have higher prices than a small competitor B. Find a
90% C.I. for the difference in gas prices. Test to see if
this difference is significant at the .05 level.

Supplier n ¢ s
A - 35 148 .12
B 40 139 .10
Are the samples independent? yes
Is the population variance known? no(must use s)
Is the sample size large? yes(can use normal)
S8 2! U
(X, -%,)tz,,, e N
= 0.09 % (1.645)(0.0257)
= 0.09%0.0423

So, we are 90% confident that the mean price of gas at
supplier A is betwn $0.04 and $0.13 more than at supplier B
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Step 2: Select the distribution to use as above
Step 3: Determine the decision rule
Is it one-tailed or two-tailed? (two-tailed)

What values of z cuts off a region of &X /2 in both tails?

So reject Ho if the computed value of the test statistic is
>1.96 or <-1.96.

Step 4: Calculate the value of the test statistic

Test Statistic:

7= (X, —X,) = (K — Ky
] =(.09 - 0)/(0.0257) = 3.5019
n, 1

p(-3.50 > z>3.50) = .000
Step 5: Make a decision and state conclusion

As 3.50 is > 1.96, (and p = .000 < .05) we reject the null
hypothesis. We conclude that there is a significant

difference in mean gas price for the two suppliers at the
] level.
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